Golden Jubilee Fours
July 1-2, 2012

Men Score

Men
GroupA [ __ccce | cip3 | | HkyDT-4 | HKFC6 | HKPBC-3 | TPLBC GroupH [ __AveP3 | cder2 | CELBC-3 | HKPBC-4 | KBGC4 | KCC-2 | PDLBC-1
Pts |F0r |Ag |P!s lFor lAg |Pts |F0r |Ag |P!s lFor lAg |Pts |F0r |Ag |P|s lFor lAg |Pts |F0r |Ag |Plle0rl Ag| D\f| Pls |F0r |Ag lPls lFor |Ag |P(s |T:0r |Ag lPls lFor |Ag |P(s |F0r |Ag lPts lFor |Ag |P(s |F0r |Ag l Pts| F0r| Ag | D|f|
All ccce - 9= 4% 2% 7% 670 "6 % = 2 ¥ 2 & 3 2= o=3 8 38 33 5 [H1|NUAVERBRRLS gf g : 0= 0® 7% 2% 7= 50"6"9 "0 "2 "0 2 %5 M M .2 8 4 2 43 2
A2]  CLP-3 0o 4 9o 4 4 4 m s 2 ¢ 1" 8 0" 4"8*0 *3 "5 *0 % S 1 19 38 -19 |[H2| CdeR-2 2 7 o 4 4 4 m w 3 8 3 @ O 3" 13" 0" 2" 5% 1% 77 5 20 34 5
A3 FC-2 0 06 7 1 3 3 # #"2" "5 % % 8 2 1 3" 2°1" 3 7 4 29 17 [H3|NCELBCS 0 5 7 0 3 7. # #"0"5"%8"0 "5 "7 % % 5 bV 2 13 0 20 56 -3
A4l HKYDT-4 | 2 10 6 2 8 1 o 5 1087 4 4" 212" 1"0 "3 "9 "2 f0 3 8 48 30 18 [H4] HKPBC-4 2 9 6 2 6 3 2 8 5f G g ¢ 2" 12" 1" 3" 3" 0" 2"12 7 30 41 -1
A5]  HKFC-6 2 7 2 2 8 4 2 8 2 0 1 12 2 IF - 4 2 7 5" 2" 8" 3|10 39 28 11] [H5] KBGC-4 2 9 2 2 13 3 2 7 5 2 12 2 gF g g %0 T % % 14 2 57 21 36
Al HKPBC3 | o 3 5 2 5 3 o 3 14 2 9 3 0o 5 7 4° 4 & % % % 4 26 39 13 [H6] KcCC2 o 4 5 2 5 2 2 15 0 1 3 3 2 7 24 J & "0"6"0 7 a0 22 18
A7] TPLBC-2 0 3 9 2 5 4 0 3 11 0 3 10 0 3 8 2 7 T AT T 4 24 43 9 [H7] _PDLBC-L 2 9 2 1 7 7 2 12 2 2 12 2 0o 2 14 2 10 6" & 449 52 33 19
Check 42 240 240 0 Check 42 250 250 O
GroupB | FC-1__ | ILBC4 | HKFC3 HKYDT-2 | KCC4 | 1BTC:1 | ViBC4 Group | [ averi | ccca | cELBC2 | GBLBC-3 | HEGSC-2 | HKPBC-1 |  SBSC-1
Pts |F0r |Ag |P!s lFor lAg |Pts |F0r |Ag |P!s lFor lAg |Pts |F0r |Ag |P|s lFor lAg |Pts |F0r |Ag |Ptleorl Ag| D\f| Pts |F0r |Ag lPls lFor |Ag |P(s |T:0r |Ag lPls lFor |Ag |P(s ]EJI’ |Ag lPts lFor |Ag |P(s For |Ag Pts| F0r| Ag | D|f|
B1 FC-1 o 6§ Q 1. 11, 0. 44542 o7 43 42 & 4 6 32 27 5 [I1 ]| AYFP-1 F O 4 5 @ 2 Q& 2 8 3. 0, 6, 8. 04.6,7 3 30 36 -6
B2| ILBC-4 0o 1 “9 20 a4 40 &0 & @ G 1a 9 Ow 44 9 0 18 51 -33 [I2 ccc-3 14 2a 8w 242 a7 23 w2 &0 a7 a2 W 2 H 4 & O 50 26 24
B3] HKFC-3 2 6 -~ QG 1a 7 2a 84620 a4 45 0 2 7 6 30 30 0 13 | CELBC-2 2 5 L o 2 6 4 2 6a 4s Ou 24 54 04249 6 23 34 -1
B4| HKYDT-2 2 11 1" 2 F 5 0 @ o 3 o 3« 1s 3w 3[9 42 21 21] [4 ] GBLBC3 2 9 0 4 6 4 4 w0 w4 a5 0 5 6 © 8 9 2 28 35 7
B5[  KCC-4 2 5 8 2 9 2.4 4 424 "4 1 s s 9 48 30 18 |I5 [ HEGSC-2 0o 3 0 4 6 2 5 44 4 4+ o0+ 610" 0" 46 2 29 44 -15
B6| LBTC-1 0o 3 4 0 3 9 0 4 14 7 S 2= 6% 2 6 30 37 -7 [I6 | HKPBC-1 2 8 2 5 2 2 6 5 2 10 67 J 4 = ® a4 9 35 40 5
B7] VLBC-4 0 1 2 1 3 3 1 5 5 0o 2 6" g 4 ;6 27 3 4 [I7] SBSCI 2 7 2 09 2 2 9 3 2 6 4 1 4 4 g5 4 Sl a3 23 2
Check 42 227 227 0 Check 42 238 238 0
GroupC [ AYFP5 | FC3 | HEGSC-3 | HKFC5 | HKYDT-L | UsRc4 | wviBCc2 | GroupJ [ FstBci | HKYDT3 | Kcc3 |  sSTsA-4 | TKOBG2 | TMsA4 |  wviBc3 |
Pts IFor IAg IPLS |F0r |Ag IP\S TFor IAg IPls |For |Ag IP\S IFur IAg IPIS |For |Ag IPls IFur IAg I lsl Forl AgI D\fI Pts IFur IAg |Pls |For IAg IPls IFor IAg |Pls |For IAg IPls IFor IAg |Pls |For IAg IPls IFor IAg | Plsl ForI Ag I Dif I
C1EAYEPSLE & & o 6,5 ,2 10 7 o0 7 10 L 3 3 1 4 46 3237 5 J1 N ESLBCLN| & & & o 2 4 3 2 7 4 2 6 5 2 5 2 8 28 24 4
C2 FC-3 2 8 2fF § 3 4 2 8 4,0 3_7_ 2 7 1 2 12 2 8 4 20 21 [J2 | HKYDT-3 2 5 38 § 0 3 8 o 2, 7, 2 2, 2_2_7_6 8 37 31 6
C3[ HEGSC3 | o 5 6 2 & A2 .7 1 0 4 7 Q 4 5, 2,6,36 302 5 [I3 KCC-3 2 5 3 o0 0.5.8 ,0 ,1 24 2 8 B3 2 5 4 6 29 4 -1
C4| HKFC-5 0 7 10 o0 17 8 g, 0, 2,7 ,0 .2 .9 038 7 0 20 48 -28 |J4 STSA-4 0o 3 4 2 o o, 4, 5,62, 7, 2, 2,6 _,5 8 3 24 12
C5] HKYDT-1 2 10 7 2 7 04 2 7 2 M & g 4 5, 0, 2,11 8 37 32 5 [J5| TKOBC-2 0o 4 7 2 2 5 4F g & o 2 12 a4 2 7 3[10 29 18 a1
C6| USRC-4 1 3 3 o0 5 4 2 9 2 2 5 4 4 4 o .2 w s[o 33 25 8] [16] TMSA4 0 5 6 0 o 2 7 o 1 12 @ & . o.4.5 0 17 50 33
c7] _VLBC=2 14 4 0 3 6 2 738 2 11 2 0 5 104 4 45 32 38 -6 [J7] VLBC3 o 2 5 o0 0o 5 6 3 7 2 5 af F S 2 25 3 9
Check 42 225225 0 Check 42 221 221 O
GroupD [__cccs | FsiBCc2 | iBC1 | KcCl sBSC3 | Uskc2 | wviBc1 | Groupk [ _ctec2 | cp2 | cepieca | RC3 | KBGC2 | sBsc2 | A-3
Pts |For |Ag |PLS IFor |Ag IPls |For |Ag IPIs IFor |Ag |P\S For |Ag IPIs IFor |Ag |P\S |F0r |Ag I lsl Forl AgI D\fl Pls |F0r |Ag lPls IFor |Ag IPls |F0r |Ag lPls IFor |Ag IPls |F0r |Ag lPls ]—For |Ag IPls |F0r |Ag l Plsl Forl Ag I Dif I
D1} CCC-5 o o g = 4t 05,5 2 7 e S o2 MO L e D) 5 2 12 2" o" 6" 8 6 43 22 21 K1 CLBC-2 o o 0" 3" 9" 0" 3" 4"o0"1"6 "0 "4 "8 "0 " ™ Y 1 18 0 13 55 -42
D2 FSIBC2 | 2 5 4 4 & 4 % % & ¢ 4 5" 2"10"0%0 "8 "9 "2 % % 6 35 20 6 |K2| CLP-2 2 9 31 A 3 7 2 8 8 o & 10" 2" 67 5707176 6 3 3% 2
D3] ILBC-1 0 1 7 2 6 24 g% 4 "o "1 "8 "2 % 3% Z ¢ 2 0" 4" 5 6 23 27 -4 |K3| CPLBC-1 2 4 3 2 7 s 4F J g "0"0"5 "0 "2 "6 "2 "7 U % ¥ B 8 20 20 o0
D4 KCC-1 o 1120 2 5 4 2 8 1F F 4" 16624 "2 0 5 %7 3 32 7 [K4 IRC-3 2 6 1 0o 5 8 2 5 of g4, o 5 10" o" 7"uu"o0o"s5"7 4 33 37 4
D5|__SBSC-3 2 5 4 0 010 0o 3 5 1 6 6 4 G4 7 & 6 2" 7% a7 30 35 5 [K5] KBGC2 2 8 4 2 10 5 2 6 2 2 10 54 G % " % 0 i 88 @ o:2 o9
D6] USRC-2 0 2 12 2 9 8 0 2 6 0 2 14 0 6 9 g 4 & o_ 7 _11 2 28 60 -32 |[K6| SBSC-2 2 9 1 o0 5 6 0 4 7 2 1 7 2 8 34 4 & 0 2 6.6 3 30 9
D7|_VLBC1 2 8 6 0 5 6 2 5 4 2 9 5 0 4 2T T o [8_ 42 3 7] [K7] TMSA3 2 19 1 2 6 1 0o 6 9 2 7 5 2 8 4 2 6 2° G 4 Juo 52 22 30
Check 42 240 240 0 Check 42 241 241 0
GroupE [ __AvFP4 | ccC4 | cdeR1 | GBLBC-2 | HKFC2 | HKPBC-2 | TPLBC-1 | GroupL [ _ccc2 GBLBC-1 | HKSAP-1 | 1BC2 | KBGCL | TMsA2 | TPLBC-3
Pts |For |Ag |Pls IFor |Ag |Pts |For |Ag |Pls IFor |Ag |Pts |For |Ag |Pls IFor |Ag |Pts |For |Ag |Pls| Forl Agl D\fl Pts |For |Ag IPls For |Ag |Pls |For |Ag IPls IFor |Ag |Pls |F0r |Ag IPls IFor |Ag |Pls |F0r |Ag P!sl ForI Ag I Dif I
EI[ AYFP-4 [ 7 & 740 «0 20 0 @ 7 O 3« 8s 0s 2a 6 22 s5 a0 «0 % 1 2 17 52 -35 [L1] CCC2 S 4 4 s2 7 2 0 4 7 2 6 5 2 8 3x 1u 5s 5a 1a 7.7 8 37 20 8
E2| ccca 2 20 0 & 7w 28 7u583 M1 =1 w 8 8 2 5 o 0% 5%10 8 51 21 30 [L2] GBLBCL | o 2 7.4 4 4w 0w 4s 5s2m5 w2 w2 wg w2 w0 w ® 9 e 12 4 20 36 -16
E3| CdeR-1 2 7 2 o 5 7F g 4 > 5 3" 0" 3725 =0 =2 ® 1 8 33 20 13 [L3]| HKSAP-1 2 7 4 2 5 4F G5 4 e 2 9 > 5= 3% 0 4% 5% 2% 52 8 28 27 1
E4| GBLBC-2 2 8 3 0 1 11 o0 3 5 g S g wm wm v 7z g 0" 1" 3" 3 7 28 27 1 [L4 ILBC-2 0o 5 6 0 2 5 2 9 2 g g Feg =1 o = u x v v g 4 28 35 7
E5| HKEC-2 2 6 2 2 5 3 2 7 3 0 5 84 4 F"2"s "0 "0 % 8 3 24 7 [L5] KBGCI o 3 8 0 2 6 0 3 5 2 11 14 F G 1" 5" 5" 0"3"7 3 27 2 5
E6| HKPBC-2 0o 0 5 0 0 5 0 0 5 0 0 5 0 5% 4 4 ' 0" o"s5 0 o0 30 30 ([L6] TMSA-2 1 5 5 2 8 1 2 5 4 2 5 4 1 5 5 4 4 b 2 8 8 30 27 3
E7| TPLBC-1 2 1 5 2 10 5 0 1 8 1 3 3 2 3 2 5 o 4 4 [ 38 22 14] [L7] TPLBC3 17 7 2 12 2 0o 2 5 o 6 7 2 7 3 2 8 24" & 7 a2 26 16
Check 42 198 198 0 Check 42 212 212 O
GroupF | __cspr | HEGSct | kBGc3 |  scB-1 | TkoBC-L | TMsA1 | wsc-l Group M CdeR4 | CLP1 | HKFC1 | HKPBC-5 |  IRC2 | sSTsA1 | usrel
Pts |For |Ag |PI5 W lAg |Pls |For |Ag |PI5 lFor lAg |P\s |F0r |Ag |PI5 lFor lAg |P\s |F0r |Ag P15| F0r| AgI D\fI Pts |For |Ag lPls lFor |Ag |P15 |F0r |Ag lPls lFor |Ag |P15 |F0r |Ag lPls lFor |Ag |P15 |F0r |Ag l Plsl Forl Ag | Dif |
F1[ CSD1 |+ & _ L 4, 4, 2, 9.6 .2 .6 4 2 A 3 1 5 5. 2, 7, 520 3 27 8] [M] CdeR4 . e O e T e T e e e ey 9 2 § 1 25 41 -16
F2[HEGSCL | 1 4 4F 4 4 . 2 8 1 2 5 2, 0, 2,8,2 .6 ,4 ,2 5 4 9 3 23 7 [M2| CLP1 2 6 SN I e g L R L T e 2 2.5,4 20 38 2 13
F3| KBGC-3 0 6 9 0 1 8 J# 4 .2 48 a5 0 o 10 3 10 4a O 5s 6 4 39 42 -3 |M3| HKFC-1 2 8 6 0 2 7 # 4 2e2a5 42 a1 a5 a5 #0 a3 2 4 & 7 34 32 2
F4| SCB-1 0 4 6 0 2 5 0 5 840 J . 0.5-72023 .4 =2 4 62 2 3 -0 [M4] HKPBCS 1 6 6 2 5 4 0 2 5 g 4 2 4n 3x 2s 12 2. 7.2 9 36 22 14
F5| TKOBC-1 0 3 4 2 8 2 2 10 9 2 7 5 - ® o6 10" 0= 4= 7 6 38 37 1 M5 IRC-2 2 7 4 0 4 7 1 5 5 0 3 47 F L w0 w v 6 8 5 31 32 -1
F6] TMSA-1 1 5 5 0 4 6 0 4 10 2 4 3 2 10 6 4 4 4 0 = e 5 283 -8 [M6] STSA1 2 8 4 0 7 9 2 1 3 0 2 12 0 4 64 1* 44 5 36 38 -2
F7] wsc-1 o 5 7 0 4 5 2 6 5 0 6 7 2 7 4 2 6 1 4 46 34 2 5 M7]  USRC-1 2 6 2 0 4 5 0 1 11 0 2 7 2 8 6 1 4 a4 g 5 25 35 -10
Check 42 230 230 0O Check 42 225 225 0
Group G [__ccca CELBC-1 | HKCC-3 | HKFC-4 | wBC-3 | srtsA2 | USRC-3 GroupN [__AvePp2 | cder3 | ciBci |  ciBca | RC1 | KkBGC-5 | stsA3 |
Pts |F0r |Ag |P!s lTior lAg |Pts |F0r |Ag |P!s lFor lAg |Pts |F0r |Ag |P|s lFor lAg |Pts |F0r |Ag |Ptleorl Ag| D\f| Pls |F0r |Ag lPls lFor |Ag |P(s |F0r |Ag lPls lFor |Ag |P(s |F0r |Ag lPts lFor |Ag |P(s |F0r |Ag l Pts| F0r| Ag | D|f|
G T 5"0"2 "5 "0 1 v 5 4" 0" 611 7 33 29 4 [N1| AYFP-2 I R o 00 B ™ B v O o3 m o, B w2 o A W2 wB e e 2 A0 w3 a2 4 S 8 33 24 9
G2| 2 7 5 g o e e Lo L 5 Lty o "1 " "o % % 8 28 24 4 [N2] CdeR-3 2 6 3 g g d o W & 3 & F o 2 6" 0" 3" 7" 1"6"6 5 27 30 3
2 T - = - S T - =2 R - ' w af a af w a S
G3 0 0 5 0 W o "o s o 0 5 _ 0 0o 5 0o o s o0 o 30 -30 [N3] CLBCI 2 6 3 2 6 4 g7 218 "1 "2 e, "4, "o, T4 6, 2 95 _ 2l10 4 20 26
G4 0o 0o 5 0 o sF & & o o 5 ¢ o 5 0,0,50 0 3 -3 [N4] GLBC-1 o 4 7 o 2 6 o 1 1585 @ & 4 0 .4 6 2 11 5 2 19 2 4 32 42 -10
G5 17 7 0 s 0 2 5 o g g g0 ,1 .7 0 7 g 5 2027 2 |[N5 IRC-1 0 2 6 2 6 2 0 4 6 2 6 4 g0 GG 2 6,2 2,5,3 8 20 23 6
G| 0o 4 5 2 5 0 2 5 0 2 7 14° 0 # 2, 7, 4[10 34 11 23] [N6] KBGCH 0 3 10 2 7 3 2 6 4 0 6 11 2 ofF & & 2 13 §5 6 37 39 -2
G7 2 1 6 2 5 0 2 5 0 2 8 7 o0 4 76 G 4 10 42 25 17 [N7] STSA3 0 3 4 1 6 6 0 2 9 0 2 10 3 o 5 13 4 4 41 21 a1 26
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